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Define

The rankine cycle is modification 

of carnot cycle.

When the carnot cycle had been 

issued it had some mistakes so 

Mr.Rankine get the solution and 

give the updated cycle.

So, this cycle is called the rankine

cycle.



Principle

It works on the principle of heat 

engines which converts chemical 

energy of fuel in thermal energy for 

the generation of steam. 



Construction

There are main 4 components of this cycle:

1) Steam boiler

2) Steam turbine

3) Steam condenser

4) Feed pump



1-2 isentropic pump

2-3 constant pressure heat addition

3-4 isentropic turbine    

4-1 constant pressure heat rejection



Working 

This process is starts with feed pump. Feed 

pump supplies the water in necessary amount to 

the steam boiler.

In this device, heat is supplied for the 

generation of steam from supplied water.

When the steam is generated, it is transferred 

to the steam turbine and turbine starts to rotate 

and give the work done. 

After this the steam is transferred to the steam 

condenser, where the heat is rejected and steam 

is converted into hot water and it is converted 

into cool water which is supplied to the pump.

And cycle repeats again………
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This cycle follows the idea of the Carnot cycle but 

can be practically implemented.

1-2 isentropic pump

2-3 constant pressure heat addition

3-4 isentropic turbine    

4-1 constant pressure heat rejection








